CTOUCH Wallom WL
Installation manual (= T oxsoomm h

400x400mm
200x200mm

Height adjustable
500mm. stroke length,
centre position monitor
1000mm - 1500mm

Wall mounting

- Adjustable feet

\ o

CTOUCH

Smart innovation!

ﬂptional accessories:

\ Parts: Mounting Kit:

A - Power supply 2x M8x16

B - Interface 2x M8x65

C - Floorstand 4x M6x8

D - Frontplate 10x M8 ring

E - Wallmounting 4 x M6 ring

F - Electric lift 8x M8x70

G - Remote 1x Cable holder
PC tray H - Powercable EU / UK 2x End caps

Fits most mini PCs or 2x Adjustable feet

other small format
players

Monitor support

Used whe.n the ) Changes or modifications void any warranty and exclude any liability.
constructive wall is This user manual includes detailed instructions for your product.

not stable enough Figures and illustrations in this user manual are provided for reference
K J only and may differ from actual equipment appearance. Equipment

design and specifications may be changed without notice.

WWW.CTOUCH.EU



Start by putting the adjustable feet a

N

end caps on the floorplate (C). Then fix
the floorplate (C) to the bottom of the

Lift (F).

4 2xadjustable feet
mwﬁ' 2x end caps

°S> 4 x M8x70
°\> 4 x M8 ring

Drill a minimum of four holes in the

constructive wall and secure the
wallmount (E) using mounting
material.
E
o jarw}
o o T\
b A
¢0
£ \i
£
R
N 150mm \
S|
o o &°
c
=
£
g Bring your own
~ mounting material,
depending on
wall type.

Optional accessory:
Monitor support

>/
~

f 190mm

Place Cable Holder on the back of the
interface (B) and install all cables.

Connect the interface (B) on the top of\

the lift (F). Test the lift by connecting
the power supply (A) and put the lift in
the maximum position.

Remote
Power

o\

Place the lift (F) in the Wallmounting
and lock with the frontcover (D).
Fasten screws after locking.

o3> 4 x M6x8
”"\\. 4 x M6 ring

Place the top two screws in back of thm

monitor. (monitor supplied seperately)
Then place the monitor on the interface
(B) and fix the top screws. Fasten the

Llower screws and the lift is ready to use.

monitor M8x16 + ring

0%, 2xM8x16

09° 2xM8X65

Neo® 4 x M8ring

WWW.CTOUCH.EU



